A Gl | J5Y «q 2 A 48 . a2 pyy ssemll Ll ol max
Sl )l | Bakal) bl 7 (5 giasall 2014 yés 17

duliall Lla¥) an gl (blaig) - | PR g‘),t)‘sn

TR SR TR JEFRY

4 6 8 S V16
CnilalSia Cnialiia Oy glaia o MPQ =555 ABC = 35 0S 1))
ABC s MPQ Ofis) )

7 7° 49° & s V49 x 73
1022 2w 55 53 58 | 10 d2ell S ga 10 222l & 30 58 100 222l

A el qual (BI5) ¢ 2 sl ogsagll

A =23 X 1852 X 5470 = seciesesn s s s sessa e ses s e ser b e s aas e s ahs s s8R e 8 sha A et eha B eeEenR SR e R SRR e
B =(3%2-23)5172 X33 4 2510 = e e ver s e e seneas s e e senens s s e s eensae e e senenasne s e
D = 2168 X5 4 2168 X 5 = .u.eeeuriesercrssessescsssas sesass s sesssssss sessessss sessessss sassessbs s sessas essssbs s st sbs s sebsbs et sebsba s

Q=78 X (12512 — 35)0 — 1958 % 78 — v s s e srs e sra s sea s ses s s R een R e R e R s

X=3%= . 5 Y =0 = i 5 Z=(5%) = e e

g ns @maé&ﬁﬁhyauﬁuﬂs\ - (bais) . Sa.a.LWl

F= 2% X81 X 3% = e s s s s s st ses s ssssss s sns s s s s s s
H = 14592 X 81 + 14592 X 19 m.iiccsusssmesesersesssnsseesessssesssss sessessessss sessessesses sas essessessesses sus sessessessns s sessesaese sees
K=35X3%= .. .o e ; L =122x10"% = ... e

M=3")1 = ... ; N=8x10°x8=

(biig) : 4 mmd gpesagll

[AB] W kig O WS (C) 34 aul & 6 cm Wlsh [AB] adlicws dakd o)) -1
FOE Oihli (b (C) 5l ey il [ABJArbail (g 9ad) i gall c) -2

A AL 8 (AB) o gagendl A piiaal) 04l -3

dga Jlop audiviall 5 (€ ) 5o Apdl) dnagh A L -4

—

EOA 4y iaia [0Z) asliwal) ciuai ol -5

Onfissladia g (pialile ligl) SY) -6
ZOA )30 Abasa) 49030 <Y -7
BOZ <) -8




